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I+ = {I, 2, 3,...)

I- =  ( - 1 ,  - 2 ,  -3,...}

I = {O, 1, -1,2, -2 ,... }

N  =  {I, 2 ,  3,...)
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xz+3x  =  0

x ( x + 3 )  =  0

x = 0, -3

bW~lra:~u B = (0, -3)

f&&4 A=B=C
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BUC =  {l,  2,s)  u  {1,2,5,8)

= {1,2,5,8}

AU C  = (2, 4, 5, 7) U {l, 2, 5, 8)

= {l,  2, 4, 5, 7, 8)

n”amhii  1:s fhwwfl%+i

A  =  {1,2,3,4,5}

B  =  {1,3,5,7,9}

C = {2,  4, 6, 8, lo}

~.wi1Fi1?J0~

if!)  A U B

(“u)  AiiC

(?I)  B U C

“ditil

(f!) A U B  = {I, 2, 3,4, 5) U {I, 3, 5, 7, 9)

= (1,  2, 3,4, 5,  7, 9)

(U)  A U C  = (1,2,3,4,5}U{2,4,6,8,10)

n”aei1si 14 hw!IA

A = {I, 2,4, 7. 8)

B = (3, 4, 9)

C = (3, 5, 6, 9)

MA 103 9



10 MA 103



u  = {l, 2, 3 ,..., 10)

A = (1, 2, 5, 7., 8, 9)

B  =  {1,2,3  ,..., 8)

99MlFilll~iJ

(n) k

(3) B’

%til RJJl%lhX$4  U LL&h$.b  A $0 A’

(tl) A’ = {3, 4, 6, 10)

LLtXX-iaJl~~“ii~~~%Pa  U LLd”akl$I.J B&I B’

(“u)  B’ = (9, 10)

ti&d17 fll'WA(vl%t%iiG-  A, B LLkE  C @llaJtblnil~~  13 LlFiZ  U = (1, 2, 3,...,  10) 9999-l

FilWK

(li)  A’U B’

(lJ)  B’U B

(a)  C U B ’

"a&i1

(11)  A’U B’ =  {1,2, 3,4,5}’  u  {I,  3 ,  5,7,9}’

= {6, 7, 8, 9, 10) U {2, 4, 6, 8, IO}

= {2, 4, 6, 7, 8, 9, 10)

(Y) B’U B  = { 1, 3, 5, 7, 9)’ U (1, 3, 5, 7, 9)

= {2, 4, 6, 8, 10) U {I, 3, 5, 7, 9 )

= {l, 2, 3, 4, 5, 6, 7, 8, 9, lo}

= u
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1.9  ~cuauEiw”lldP11~~~%~~6%~  (Some general property of sets)

1 . AnA’ = +

2. AnA =  A

3. AnU = A

nia6iaQunimiwuan  (union) mmr&-i%u  (intersection) IfaW~gJ~~Wl6OpblIJ

niungn  mddoun4u (associative law) Gbkl

4. A U B U C  =  (AUB)UC  =  AU(BUC)

AnBnC  =  (AnB)nC  =  An(Bnc)

@“’  1.5 LbX;d:  1.6

4-i

u

@i 1.5 AUBUC

l&,.a~ 18 ThTwl~Ps”

R = {2, 3 , 4, 5)

S = (3, 4, 6, 7 )

T = 14, 5 , 7 , 8)

aw1e;1wls

(n) RUSUT

(V) RnSnT

U

A B

IC

pFi  1.6 AnBnC

MA  103 1 3



%vil (fl) aws1Yh

RUSUT = (RUS)UT

= [{2, 3, 4, 5) U (3, 4, 6. 7}] U (4, 5 , 7 , 8 )

= (2,  3, 4, 5,  6, 7) U (4, 5,  7, 8)

= (2,  3, 4, 5,  6, 7, 8)

(u) sws1Yi1

RnSnT  = (RCIS)C\T

= 112,  3,  4, 5) n (3, 4, 6, 7)) n (4, 5 , 7 , 8)

= { 3, 4) n (4, 5, 7, 8)

= (41

I R
2

34  5-

@

67  8

S T

p4  1.10

1.10 nlsn”laod”~anl~lauu¶J~~~~~~~~~~  (Combining set operation)

aihtha7fn=muan  (union) LLaZfll~Ghi(Pln”P  (intersection) llln~L%@lXJld-d~:6ZJfh
Y

Ti~aRwLfm%mEh

i-kild 19 fPlwu@1%~

A = {0, 5, 10, 15, 20, 25, 30, 35, 40, 45, 50)

B = { 10, 20, 30, 40, 50, 60)

C = {S,  15, 25, 35, 45, 55)

W~lFilllW

(n) (AfIB)  U  C

(U)  AU(BflC)
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m5

A

0 Is\ 1s I I

1 0 0  =  n ( U )  =  20+5+15+n(AUB)’

%&  n(AUB)’ = 100 - 40 = 6031~1
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1. sssaa,na~os~~l~~v~~~~~~~~~~

(fl) {uju E ILbR:  u* = 16}

(u) {ulu E I LLRZ  u > 4)

(n) {pip  E I+  LLE  p < 12)

(9) {vlv EI+ Lb%  v2-5v  = 14j

(9) {XIX E I bb6JE  (3x-2)(x-+(x+3)  = 0)

(9) {XIX  E I LLA:  2$-3x - 14 = 0)

2 . ~~~wsa~~lq6URBJ~~a8)l~n”Y~9~~m~D~~$

(n) (4, 5, 6, 7, 8, 9)

(“u)  (2, 4, 8, 16, 32 ,..., 1024)

(n) (1, 4,9,  16 I...,  625)

(9) (-7, -9, -11, -13 ,...  1

(IT)  {x/x E I blW.5  32 +5x-2  = 0) c A

(“a) {x[xEILLWZ  9 = 5) c A

4. ii1?4wlvkLGl

A = (3, -4)

B = {x1(x-3)(x+4)  = 0)

c = {xl?+?-12x = 0)

D = (0, -3, -4)

asbbs~sa'lb~abn~~~~~~~~~l~~
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5 .  RlvMll~LTE

A = (0, 1, -1)

B  =  {blb3-b  ==  0)

c  =  {l,O,  -1)

D  =  {d+d+&’  =  0)

~saaw@IsliI~cpi”i~~isa~ua~aauil~~

6. iilMPa~~~L~~

A = (-1, -3, -5, -7, -9 )

B = (-1, -2, --3, -4, -5, -6, -7, -8, -9)

C = (-2, -4, -6, -8)

35Wl

(fI) A U B (“ii) AnB

(‘p7)  A U C (4) AMI

(%)  B U C ( a )  Bnc

7. WMJdh%~‘k  6. t?lfhM’M%~  .

u = (x,x ~aOiuaur~~aub~3~lnndl  -12)

(fI) AnA’ (Vu)  A’nB’

(@I)  B’UC (9 )  AfK’

(8) B’UA ( a )  c’nA’

8. rilM’Ml%9ji~~~

A = {0, 1, 2, 3, 4, 5, -1, -2, -3, -4, -5 )

B = (-2, -4, 0, 2, 4)

c = {l, 2, 3, 4, 5)

89991

(11)  AU(BUC) (ll)  An(BfMZ)

(fl) (AnC)  U B (9)  Cn(AUB)
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P ‘UP

/

T F

F T

(conjunction)
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